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Y ] ¥|0R803%g %93 R 9 3.¥O|AERT &7 RqR.¥0
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33 % MEETEER=S Y 962,33 | AT &= 18%.3%
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Y0 ] ¥[o3033% EP Q&.39 |mERE &= 182.39
¥9 ] ¥[orwo3RE 1345 33R.69 | @A A 33%.49
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&R ] ¥|ojwo3gl ¥¥Y 360.YG | AR &7 380.¥%
&3 ] ¥[0360330 Yy 800,92 [FM &= 900.9%
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e Q ¥[orwo3g wog q0%.&Y|AmariT &= 0%.8Y
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o9 ] ¥|o3wo33g RLCE ©. oo e &= ©.9g
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oy ] ¥[o3033% 1330 Q&R.33 | oA &= 182.3%
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190 ] ¥[03803CT Y54 335,63 |AEET A 33%.63
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98 R ¥[o3033% 329 129 ¥.39 | @ &= 159 ¥.39
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R4 ] ¥[orwo3RE K 9L, 3& [FESHE TR & 194%.3%
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39% ] MEECEEIAC E 49,3 [caEAE g7 999.3%
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R¥R ] ¥[o3033% 33% e EEEREE U3.¥5
%3 ] ¥|0RW603IRG 3 95U |ATERT & 29545
1YY ] ¥|0R803%g Cr34 155G |ATa™T A 955.¥5
1YY ] ¥|0380330 e RORCUR(FM & J03T.UR
1Y% ] ¥|0RWB03IRG R30 &9 Y |AERT & R69.6Y%
¥ ] ¥[o36038 1329 q09.4&|AE™T &= 109.45




%% Q ¥|ojwo3gl YY¥0 333.R0|AERT &7 333.R0
1R¥% ] ¥[oje038T & £ 33C.5R[AENHE ITANHT &7 £33C.6%
1340 ] ¥|0RE0381 3cg 99 &.R Y| AERIT &7 19&.RY
349 R ¥[o3o38 9393 195.50 @™ &= 195.50
Q4R % ¥[o36035% 3 ¥Y00UY 39 [T & ¥¥00LY. .39
343 ] ¥[o3bo3g Y3 qR¥9.9 3 |sma & 12¥9.93
%Y ] MEECECEIAC 330 QYRR E [FESE ITANTHT &= 14%.3%
934% ] ¥|0RE03& L T R30.W Y |AERT aF 30.0Y
134 & ] MEECEEIAC R Y &Y. 30 |AmEET &= 4&¥.30
P ] ¥[o3bo3g 9% R99.3% |[emErfT &= 299.3%
145 % MEEREERE s 300048 [FiT & 3000.4%
93%4% ] ¥[o36038 3 EOYY.q & [QTEH® ITANTHT & SOYY.9 &
1380 ] MEECEEIAC 154, Y. Y | STErd e T
1389 ] ¥|0RE03& L R30 YWR.0R|ATardT & 43.0%
R&R % ¥[o36o38 339 Q0G5 [AmEiT &= 90G.5%
1383 ] ¥[036038 3R q0.0R |ATE™T A q0.0%
REY ] MEE{CeEIAT K 2990.%9 [GEsFE ST &7 R990.49
REY ] ¥[oj0035 13% IEYR.OY([FT & IEYR.6Y
1388 ] MEE{CeEIAT oy SR EE e 158.0g
1368 ] ¥|0RE03& L 3 ¥.30|amardT &7 ¥.30
R8T ] ¥[oRwo3gl o 33cR.03[FW & 335%.03
R&% ] ¥[o3bo3g 35l cq.cR |qET &= cq.5%
Q30 ] ¥[o0035 30¥ QRIERE|FM & 1R3E.RE
9309 ] ¥[o36038 0 Y 0§ IEY.3R|FM & IEN.3%
38R ] MEEEEIAC 30y R0Y.E0|HT &7 R0Y.§1




1363 % ¥|orwo3gg 33Y 1U.36(FW &= 4.3
R0y ] ¥[oje038T 1390 9%, 3Y | AEET & 1z.3Y%
3% ] ¥|oRe038g 130% 2.9 & |smEriT &= .9 &
9365 ] ¥|0RWB0O3E G EX 3I3IUYR.QR|FE, @re, e, RHER A 33U ¥R.8%
1R0e % ¥[o36o38 &Y ROY.QY|FM &F £0Y.%Y
R0z R ¥[ojo38l g9y ¥Y.R0|FM &= q¥Y¥.20
0% ] ¥[o038 EES ¥IER (B &= Y363
qrz0 ] ¥[oe038T 1% 393,04 |ATESH® STANTH! & 363.0Y4
1329 ] ¥|orwo38 g 33% ILE. YR |AEAET A JILE.YR
38R ] ¥|orwo3E D W& IRY|FM &= J3.RY
123 Q ¥|oj038T i ©R0.5% |ATERIT &= vR0.5%
135y ] ¥|0R80367 35 CYR.YY [WTESME SUANTRT A TYR.YY
RzY % ¥[olo3ge 3YY 339U [T &= 333.9%
RGE ] ¥[olo3gt 013 %9 0. & 3 |smari &= 496.63
1356 ] ¥|orwo3% g 34 R 3.6 & |ATANHE ITANTH & R3.E%
Rzg ] ¥|orwo3g D © 3%9%.5R [AEWME SIS &7 3%9%.5%
1RE% R ¥[oo3gc EN 3YEORL.RY (AT & 3YEO0RL.R%
13%0 ] ¥[orwo3sg 0 QRY¥2EE.9C[aT & 13¥366.95
1329 ] ¥[oRwozgg 299 13¥.33|FM & 13¥.33
SRR ] ¥[olo3gz 18 GUR 3.3 (AL, @rem, ar, REER & 364%3.3%
1323 ] ¥|o3W033L R3% Q.o | ATardT &7 Q.05
RRY R ¥[036038 0 Y90 R]Y.5Y |ATET & 324.59
1334 ] ¥|0RW03E G Y9 R &.og|ATardT &7 I
13%& q ¥|ojW03gL 3R ROE. Y0 |AERTT &7 R0&.¥8
RNt R ¥[o3603R 350 QRY. 20| AT &= qRY.RE




13%% ] MEETEELE Y O% IR |FO &= 3R.3%
13%% ] ¥|0RWB03R Y90 Y9 R | AR e ¥Y.9%
9300 ] ¥|0RE0330L T & 3.UE | AEET A §3.45%
1309 ] ¥[038033% 3YY & ¥3.5R |ErT & §¥3.5%
1303 ] ¥|0R6033L 152 RISCRRAE el el RCO.ME
1303 ] ¥|ore033g CRIe Y .ol |mEriT & 45,0
130¥% ] ¥[o3e033% CRi 1652 R [mET &= 16z.2%
1304 ] ¥|orwo3Rg 3T & 3. 0% |FTESHE SIS &F 3.8
130% ] ¥|oRe03Rg 290 REY. YO |AERT &= ReY.40
1300 ] ¥|orwo3Rg §00 399.%R |ATERT A 319.4%
1305 R ¥[o3033% 33y RTEQR (BN A RT5.9%
130% Q ¥|ojo3RT ’q0 30.cc|AEHET & 30.5g
1390 ] ¥|ojwo33L %9 & 3Y. 3| AR & 34.3¢
1399 ] MEETEERS 192R ERMEIEC e R.2Y
139% ] ¥|o3o33g 1923 €. 0| AT &7 1&.R8
1393 ] ¥|orwo3Rg 195y 92 3%, YW |ATE A 923%.%Y
139y % ¥[o3603RE ¥qY .0 | qET &= 3%.05
1394 ] ¥|0R803%g &&Y 453.5Y|ATERT = 153.5Y
139¢ ] ¥[039033% £33 ARG EEEREE 3IYY.R6
1390 ] ¥[0310330 00 £59.55|F0 &= £89.85
139¢% ] ¥|0R8033L ¥93 QU.R & |[ATERT &= QU2 &
139% ] ¥[0360330 £09 Q0TY.0&|FT &= 0Ty .0k
93%0 ] ¥[038033 Y0¥, 3CE. Y3 |AENHE STNH & 3TE.Y3
139 ] ¥|0R803%g © Q.Y |wTEardT & 9.4
933 ] ¥[o3e033% 29 q3R.0Y |AMETIT &= 13R.0%




133 Q ¥y|ojo3Rg 99zg 93U C|mEaT & 13&.45
3y ] ¥[orwo3Rg 1954 ¥ .Y |smEariT &= ¥9q.0Y%
1334 ] ¥|0RE0330L Y9 5% &Y |smEwT &= 152694
9338 R ¥[o3033% q0&3 q0%0.0Y|AERT & q0Y%0.0¥
130 ] ¥[0360330 Y0l L3RR 0|FM a= JU3RRL
13R% ] ¥|0RE03RL ¥Y IR Y| AERT A 3IY.RY
133% ] ¥|ojw033L ¥q0 ©. & | ATaTET & ©.&5
1330 ] ¥[0360330 ¥ozg 3C.0|AE™T &= 3z.30
1339 ] ¥|oRe03Rg 1958 Y 3.0% |ATERIT & 43.0Y%
133 ] ¥[0o3e033% Clelt 29G4 | AmERE A B AL
1333 ? ¥|oRe033g zBo 3Y0 & G| ATERT & 3¥0.85
933Y R ¥[0360330 A w509 |ATariT & ©z.09
1334 ] MEETEERS c%3 3YR.RQ AR E 3IYR.RQ
133% ] ¥[oe033% 1950 q&R.0Y| AT &= 1&R.0¥
93306 % ¥[o36033 §2 & 952 Y& |[smEmdiT &= 8R4 &
133¢ ] ¥[o3033% 19&5 §0%.q 0 |AmET & §LR.q0
133% ] ¥[orwo3RE LI 99 ¥.3& |A@™ET &= 19Y.3%
13¥0 ] ¥[038033% qooy q6%.%9 [smariT &= 1&2.39
93¥9 ] ¥|0RW603IRG §EL R33.¥q [AmERT &= 33.%9
3¥R Q MEEREERD N ¥€.9 ©|mEriT &= ¥&.q0
13¥3 ] ¥[0300335 S0 IR | AEET A 3R.8%
13¥Y ] ¥[o36033 SEE 9R0.9 3 |[smErT &= 120.93
13¥Y% ] ¥|0R803%g 089 3IYC. Lo ATERT & 3YT.LL
13¥8 ? ¥|03033 LA Y. | AT g 1.2
13Y6 ] ¥|orwo3RE qo&%g 350U 3 |HTErT & 356.43




13¥% ] ¥|0R6033L &Y% Q.Y |ATETdT & 29.3%
13%% R ¥[o3033% Y R Q93,6 & |ATEREE &= NICER A
1340 ] ¥|o3W033L ¥ & R¥9.50|AERT &7 R¥9.50
9349 ] ¥|0R8033L ¥&Q 9RY.50 | ATEaRT & 13¥%.50
34R ] ¥[0360330 29 LLY.38 | &= 3%9.3¢
1343 ] ¥|0RE03RL §&EY ©T. &R |ATERT & CIR A
39y ] ¥|0RWB03RG Y80 qY.0 |ATERIT & 13%.0%
344 ] ¥[0360330 196 193R.¥% [FT &3 1933.%%
EE ] ¥|orwo3RZ q00¢% 0. YR |AmET &= 0.4
1340 ] ¥[0360330 §8Y ¥3.9% |dmErT &= ¥3.9%
1345 % MEEREERE ¥3R R EEEREE ¥3.03
93%4% ] ¥[o3@0330 PEAC YY.3Y | AET e ¥Y¥.3Y%
1380 ] MEECEERC ¥33 3%9.9R |AmERT &= 2%9.9%
1389 ] ¥|0RE03RL X9y 0. Y| ATErdT &7 20.Y
138&R ] ¥|o3wo33L ¥EW YY.R0|AERT &7 ¥¥.0
9363 ] ¥[o3603R 422 ¥9%.33|smariT &= ¥q%.33
38Y ] ¥|0RWB03R G 33 340,00 |ATEHA &A 340,00
1364 ? ¥|03033 ¥&G MCMEIE R ¥Y.0Y
1388 ] ¥|0R80330L R0 99 R.5O0 | @R &= 19%R.50
138 R ¥[o3603R & RRY.CO|FM &= 2RY.51
T ERS Q ¥|ojo3z 3001 q0.53 | ATEET &= q0.53
13&% ] ¥[o3033% 0’4 33%.06|vmERT &7 33%.08
130 ] ¥[0360330 ¥30 RY.M 3 AT & QUMD
1369 ] ¥|0RB033L YR 9&%.33 | AERT &= 1&%.3%
3R R ¥[o3603R &5 Q&Y. 0| AT &= qEY.R¢




133 % ¥[orwo3zg 3R% 33%.00|qET A 33%.00
q30Y ] ¥[0360330 RE&T 3¥9.3Y |AEET A 3¥9.3Y%
30y ] ¥[o3603R &0 IR Y.RE (B & 3RY.3%
1308 ] ¥[0360330 933 QRRRUG|FM &= R348
1306 % ¥[o36033 ¥3% QU4 q.%0|F &= 449.40
ELS ? ¥|03033 ¥\99 Y 05,00 |qE™T &F Y 0%.00
3% ] ¥|038033% 1333 q3Y.&o|AERT &7 13%.85
13%0 ] ¥[0o3e033% 0 QUYL oY |ATERT &= eY.Y
1329 ] ¥|ojo3E 9% Y 0. R |HTERT & 9%0.3%
135R ] ¥|0R803%g Y3 3088 Y |AERT aF 30%.8Y
9323 ] ¥[036033 ¥ 15Y.E3|FM &= 15Y.563
135y ] ¥|0RB03RL ¥39 R 3R |ATariT & R3.L%
13c% ] ¥[o36033 ¥9% 360.5Y |WmEriT & 350.5Y
13c% ] ¥[o3603R CHY 3369.8(FW & EECERAC
13z % ¥[o3033% q0%% 320,39 |wmEriE & 32,39
1355 ] ¥[038033% 33Y ¥R.39 [FW &= ¥R%.39
132} R ¥[o3603RE ¥z 1€2.3[FW &= 182.3%
93%0 ] ¥[orwo3Rg 08¢ REY.Q Y |AER a REY.9Y
1329 ] ¥|03W033L Yoo 4. 00| AT &7 988,00
3% ] ¥|0R803%g 3¥R 3%,3.99 |OTESE STANTH! & 3%3.09
13%3 ] ¥|0RW603IRG R0t 3Y0.CR @R &= 3¥0.5R
13%Y R ¥[o3e0330 Ly 9%, R0|ATE™T &= q%.30
9324 ] ¥[o3e033% ooz RQR.&R|AEHT &A 9R.8%
13%¢ q ¥|ojW0330L 35y 9 € .00 | TaTET &7 q€.80
ENC R ¥[o3603R ¥qg 303.3% | AR &= 303.3%




13%% ] ¥[0360330 Q0% 309,55 |FM & 309.5%
13%% ] ¥[0R10330 5y R0.cY|FM &= q%0.5Y
q¥o0o0 ] ¥|0RE0330L 3Ty &, &R M@ &= ECRAY
q¥09 Q MEEREERD 9 & q03.0¢ A= & q93.0%
q¥0% ] ¥|ojw0330 39 ¥3IR.3Y|AERT &7 ¥3R.3Y
1¥03 ] ¥[o36033E CEE 96%.39 [smardiT &= 18%.39
q¥0Y ] ¥|0380330 ¥R0 33%.00(%W &= 33%.00
qyoY ] ¥[0o3e033% T4z Q¥9 &.4 0| &7 1¥9&.%40
qY0% ] MEECEERIC ChR ¥qR.0% [ArESE ITANTH &= ¥qR.0%
QY0 R ¥|0RE03RL 390 9 &Y. 0 |ATE™T &= q&Y.80
Q¥0g ] ¥[oR10330 1919 352988 [FW & 35%9.%8
q¥0% ] ¥[0360330 30y 36Y0.93|FM &= 3E¥0.93
1¥90 R ¥[o3033% RS 962,33 | AT &= 18%.3%
%19 R ¥[o3033% 429 R0.83|FM &= 30.%3
1¥9R ] ¥[o3603RE qog ¥ ¥.50|(FW &= ¥ ¥.50
%93 R ¥[o3603R Q5% §CY.OY [FT & §TY. Y
¥ Y R ¥[o3603RE 299 9 &.6|amErT &= 18&.26
¥9Y ] ¥|0RW603RG ¥l Q80,00 [HERET &= q8L.00
%9 & ] MEE{CIEEIE 9% Y ¥0. Y & |ATET & L ¥0. 4 &
%99 ] ¥[oRe03Rg 420 q06.¥9 [FW &= 101.¥9
1¥9¢5 ] MEE{CIEEIE ¥9g 98,00 [ATETRIT &= q88.00
1¥9% ] ¥|0RE03RL 190 R0Y. 3y |AERT & 304.3¥%
1¥R0 ] ¥[0360330 300 QER.LR | AT &= QER.4%
1¥39 ] ¥[orwo3Rg 133% q3Y. Y& |AERIT &7 3Y.¥5
¥R Q ¥|0o3W033L Yoy, 40,00 |ATERIT & 9,00




1¥33 ] ¥|0RE0330L 3N 1&%.39 |smEwT &= 18%.29
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¥ ] ¥|orwo3RZ % & q09%.5% |AmEwT &= 109%.5%
%35 ] ¥[o36033E 330 Q62,33 [emardiT &= 18%.3%
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1¥39 ] MEECEERIC Ty 330 ¥R |AERNT &7 330.¥%
%3 ] ¥[0o3e033% CRC Q&5.5% |ATE™T &= q65.54
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q¥3Y ] MEECEERC ¥59 9&%.3% @R &= 16%.3%
1¥3% % ¥[0380330 304 Y% 9. & |FM & ¥8%9.%&
¥36 ] ¥[o36033 Rzg ¥R0.0¥|FM &= ¥R0.0¥
%35 ] ¥|0RWB03RG RT3 99 R. ¥R |AESHE STARTH &= 19R.¥%
¥3% ] ¥|0RW603IRG Y50 Q&%.3% |E™T &= 18%.3%
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¥¥q R ¥[o3033% CRR 9% &.%R|AE™ET &= 12&.23
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¥YY ? ¥|ore033g 1051 490,00 |ATERNT & 980,00
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1¥¥5 Q ¥|038033% q05g qOYE.&L|ATERIT & q0¥&.5&9
¥Y¥8 ] MEECEEIC Y 30,08 |AERT &7 3¥0.0
q¥¥®0 ] ¥|o3033g q0&Y R3%.59 |AERT & R3%.59
%49 R ¥[o3033% qR0L L Y.00 | ATERT & 3L Y¥.00
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Q¥&9 ] MEE{CIERE §&Q Y. YY | ATERIT E YY.¥Y
FYER ] ¥|o3o33g fole} ¥RY.00|ATERIT & ¥3Y.00
Q¥E3 ] ¥[oe033% & YRY.IY (BN & ¥IW.3%
1¥EY % ¥[0360330 330 q¥3.0% |AmERiT &= 1¥3.0%
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Y& & ] ¥[oRwo3Rg c¥? 33C.€3(BW &= 33C.63
1¥&S ] ¥|038033% zog 405,99 |ATERT & 995,99
1¥&5 ] ¥[0R160330 920 YEY.Q3|FM & YEY.%3
1¥&ER R ¥[o3603R &9 30Y.50|FM &= 30Y.56
QY0 ] ¥|orwo3RE 1904 qR0.0C|A@™EA &R 130.0%g
99 ] ¥|orwo3RZ 909 160 Y & [mErdT &= 180.4 &
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QY83 ] MEETEELE &G0 16%.39|F0 &= 18%.39
¥y ] ¥|orwo3RE &3 ¥93.9 ¥ |AE™T &= ¥83.9Y
9 ¥\eY, Q ¥|ore033g 4030 5T, Y |AERT &= 955.3%
SRYCH R ¥[o3033% 3%C 369.6% [emarfiT &= 389.8%
QY00 R ¥[o380330 &9 190,29 [FW &= 990.29
Q%5 ? ¥[o3803306 §L3 1c0.8c(FW &= 150.62
Q¥R ] ¥|0RWB03RG ¥09q 990, Y3 |AmET &= 990.¥3
q¥zo ] ¥[0360330 o ¥q3U.L9 [F &= ¥q3%.49
1¥59 ] ¥[0360330 ¥R 33R.ER|FM &= 339.6R
Q¥5R ] ¥|0RWB0o3R 139 19353330 &7 193&.33
1¥c3 Q ¥|038033% TR 400, R0|ATERIT &7 qW0.30
¥y R ¥[o003RE ¥R3 YULC(F &= JYULMLT
YTy R ¥[038033% c¥0 35R.06(FW &= 3zR.0L
¥GE ] ¥[orwo3Rg 19&0 R3IERR|FM &= 235.%%
¥5e ? ¥|oRe033g Y 9&%.39 [smERT &= 18%.29
1¥zg R ¥|0RB03RL ¥00 190,30 |ATE™T &= 990,36
¥z% ] ¥[038033% %3 330.0¢|A@™ET & 330.0%
1¥%0 R ¥[o3033% c9§ 96%.39 [smariT &= 18%.39
%29 R ¥[o3033% %9 QEY.R 3 |amEriT &= QE%.23
q¥%R ] ¥[o36033 32% NS E e 19845
%% 3 ] ¥[0360330 29 & R09.90|FM &= R09.90
¥R Y ] ¥[0j8033% 999 q30.28 |ATE™T &= 130.2%
q¥_Y ] ¥[o3e033% ¥4 IRES.Q Y |FmERET EF 3RE5.9Y
¥R & ] ¥[oj8033% 33 REL.QY|FM & REX.QY
¥ ] ¥[o3e033% qr0% Q&R.ER | AT &= EANAS




1¥%% ] ¥[0360330 429 O 3R Y[FM & 64 3RY
%22 ] ¥[0o38033% ERlS YR A4, e, ard, REErR & ¥R.GY
%00 ] ¥|o3W033L 333 YRR . Y|HAmERT & YR.%Y
%09 ] ¥[orwo3Rg 333 355R.30(FW & 35§R.30
40R ] ¥[0R160330 R4 cL3.9c|FM &= SCER S
%03 ] ¥[0o3e033% ¥30 3G, OR |ATESE STANTH! & 3N E.6R
14.0Y¥ % ¥[orwo3zg 1303 q6%.50|AmEiT &= 16%.80
0% ] ¥[o3603RE 3?c 299.9% |FW &= 299.9%
14 0% % ¥[o3033% g 303.33 | & 303.33
qeol ] ¥[o36033E 42,0 LET.E [FT & U ET.89
Yoz ] MEECEERC ¥Y 330,83 @R &= 335.63
14.0% ] MEETEEEL 3Y0 0. Y |FT & 10,2 Y
1490 ] ¥[oR10330 ¥R YOULER (BN & YOU.ER
1299 R ¥[orwo3Rg Qo] 193¢ |[FT &= 195.3%
ES ] ¥|o3o33g QR CY.& & | AmET & TY.&%
1493 ] ¥|orwo3Rg &9 R&9.03(FM &= %&9.03
ERY % MEEEEEE ELS I3C.E3(FM & 335.63
1494 ] ¥|0R803%g R13 CY.& & |HATET & TY.&§
149 & ] ¥|0350330 3% ROO.RE|FM & £8.35
129 R ¥[o3033% StH 9€%.39 |amEriT &= 18%.39
1995 ] ¥[orwo3Rg QoYY & &% |AERT & BE&.R%
1299 % ¥[o3033% 109 §3.3% |AERT & £3.2%
40 ] ¥|0R803%g &3R O Y. oY |ATE™ET &A WoY.cY
EEY ] ¥|03033 j00 CR.RR | @ &= GR.R%
YUIR ] ¥[orwo3Rg o YYo.ug|H & Y ¥0.9%




433 ] ¥[o3033% q0%¢c 1cg.00(FM &= 155.08
QURY R ¥|0RWB03R &co &9 &.20|F0 &7 189&.20
1YY ] ¥[0360330 & YYOY. oYM & ¥YoY.5Y
YR & ] MEECEEIC &5 ¥0R.YC|qmariT &= ¥08.¥%
U3 % ¥[orwo3zg %39 3cY. | AmEriT &= 3TY.L6
4Rc ] ¥[0360330 109 159, Y3 |AEH® ITARH &= 159.¥3
43% ] ¥[o3033% 03 300,36 (B &= 3%0.3%
430 ] ¥[0310330 R 18504 C|FMT & 185045
9439 ] ¥[o3e033% 0% 169.55 [FM &= 1¢9.5%
433 ] ¥[0o3e033% &R0 YE3.R9 (BN &= ¥&3.R9
433 ] ¥[03©033% €29 IV P & 3IY0.5
93y R ¥[0360330 Y3 3%.%0|ET &= 3%.%0
EEES ] ¥|olo33g ¥¥0 & ¥R.Q G| ATERNT & 1&¥R.25
1438 % ¥[orwo3Rg &30 REE.q 0| AT A 388.90
143 R ¥[oR10330 &9 ¥q90.¥Y% |[F &= ¥990.¥Y
1435 ] ¥[0360330 & 303, Y |mEriT & 3013.2Y
1439 ] ¥[oRwo3zg ¥9§ 9RE.qY|FW &= 14R5.9%
Y Y0 ] ¥|0R803%g &R ¥&R.5O|ATa™EA A ¥&%.50
%9 ] ¥[oRwo3Rz 09 33Y9.¥9 [F & 33¥9.%9
1LYR ] ¥[orwo3zg 0¥ §3R.2%|FM & §32.9%
9¥3 ] ¥|0R8033L EXY Y0, 6R |[ATERIT &= 9%0.93
LYY R ¥[o3e033% 04 33R.00 (@™ &F 33%.00
T ] ¥[o3e033% o .Y Y|TE, Erar, e, ReEr e q60.9Y
QUYE ] ¥|0RWB03IRG Y33 Y 0. oY |AmERT &7 1%.0.%
QLY ] ¥[0o310330 39 %%9.5% [HT & %2858




12¥3 Q ¥|0RE0330L &Ly 1¥Y.5q |AmERT &= 9¥Y¥.59
4 ¥% ] ¥[o36033 RT ¥q09.5|FM &= ¥q9.89
qYYo0 Q MEETEERT EICH] 12983 |FM & 120%.5%
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